

# DETERMINATION OF A LINEAR DIFFERENTIAL EQUATION ON HALF-LINE AND ITS SPECTRAL DISTRIBUTION FUNCTION FROM THE OTHERS RELATED

#### HERMINIO BLANCARTE

(Communicated by Mervan Pašić)

Abstract. Consider two problems with symmetrical boundary value problems and defined by for j=1,2 through:  $-y''+q_j(x)y=s^2y$ ,  $0 < x < \infty$ ,  $y'(0)-k_jy(0)=0$  where  $k_j \in \{h_1,h_2\},h_1,h_2$  are different real numbers,  $s \in \{\lambda(h_1),\mu(h_2)\}$ ,  $\{\lambda(h_1),\mu(h_2)\}$  represents the same family of eigenvalues for both problems,  $q_j(x)$  are continuous real valued functions. Their uniqueness is determined through their respective spectral distribution function  $R_j$ . The aim of the paper is to relate both previous problems in the following way. We will assume the uniqueness of the first problem and determine the uniqueness of the second problem by linking: both spectral distribution functions  $R_j$ , both boundary conditions  $y'(0)-k_jy(0)=0$  and both potential  $q_j$ .

#### 1. Introduction

The inverse Sturm-Liouville problem on the half-line consists in determining the Sturm-Liouville operator from the spectral function, that is, considering the Sturm-Liouville equation

$$-y'' + q(x)y = \lambda y, \qquad 0 < x < \infty,$$

$$y'(0) - hy(0) = 0,$$
(1)

where q(x) is a real continuous function,  $\lambda$  is a spectral parameter and h is a real number.

The objective of inverse problem in general is to find out the conditions for the spectral function  $\rho$ , determined by a symmetrical boundary value problem, which means that the potential q(x) and the constant real h are uniquely determined. The fact that the spectral function  $\rho$  defines the equation uniquely was proven by Marchenko [10, 11]. The complete solution to the inverse problem and the precisely necessary and sufficient conditions to be satisfied by the spectral function was first given by Gelfand & Levitan [3] as a final complete version in the celebrated paper [8, chapter III, pages 39–40], in which they give a complete solution for the case of the singular Sturm-Liouville equation by two of its spectra.

Mathematics subject classification (2010): 34B24, 34L40, 34L25.

Keywords and phrases: The Sturm-Liouville boundary value problem on the half-line, isospectral boundary value problems, transfer kernel, the integral Gelfand-Levitan equation, extensions of the estimates  $L_1 - L_{\infty}$  for the equation of Schrödinger on the half-line.



We name problem j for  $j \in \{1,2\}$  to be the symmetrical boundary value problem

$$-y'' + q_j(x)y = s^2 y, 0 \le x < \infty,$$
  
 
$$y'_j(0) - h_j y_j(0) = 0,$$
 (2)

where  $s \in \{\lambda, \mu \colon \lambda, \mu \in \mathbb{R}\}$ , and  $q_j(x)$  are real and continuous,  $h_j$  are real. The aim of the paper consists in finding the sufficient conditions in the first symmetrical boundary value problem to determine the uniqueness of the second symmetrical boundary value problem. An essential condition is that both problems are isospectrals, that is, for each  $j \in \{1,2\}$ , consider this boundary condition:  $y'(0) - k_j y(0) = 0$ , where  $k_j \in \{h_1,h_2\}, h_1,h_2$  are different real numbers,  $s \in \{\lambda(h_1),\mu(h_2)\}$  and

$$\left\{\lambda(h_1),\mu(h_2)\right\} \tag{3}$$

represents the same family of eigenvalues for both problems j = 1 and j = 2.

The approach used in this paper is the one offered by Marchenko [12, Chapter II]. Next, we turn to a description of content of this paper. In Section 2, we establish the necessary preliminaries: basic notation and results given in Marchenko [12, Chapter II, pages 101–153] will be used in the paper. In Section 3, by Lemma 1, we establish the existence of the so-called transfer kernel and how such transfer kernel satisfies the Integral Gelfand-Levitan equation and derives its uniqueness. In Section 4, given the uniqueness of the kernel of transfer, we establish through Theorem 3, the uniqueness of the second problem with conditions that relate the spectral functions, potentials and boundary conditions respectively, between both problems. In Section 5, we show two examples of isospectrals boundary value problems with two potential  $q_1(x)$  and  $q_2(x)$ specifics, with the homogeneous Dirichlet boundary condition at the origin. In addition, we will show that they possess extensions self-adjointes by using: [16], [22], [23], [25]. Finally, in Section 6, we provide relevant information on Estimates  $L_1 - L_{\infty}$  for the equation of Schröndinger on the half-line, given in [23]. In addition, we consider it to be an open problem, the possibility of an extension of such Estimates in the case of the one-dimensional Hamiltonian regular given in [23], adding the singularity of quadratic order on the half-line, shown in Section 5.

#### 2. Background and notation

By using the information on distributions of [12, Chapter II, pages 100–146], we will keep the enumeration of [12] to the right side of each equation of reference by means of the symbol (a.b.c) when we believe it suitable.

Consider the boundary value problem generated on the half-line  $0 \le x < \infty$  by the differential equation and the boundary condition

$$-y''(x) + q(x)y(x) = \lambda^2 y(x), \qquad 0 < x < \infty,$$

$$y'(0) - hy(0) = 0,$$
(2.2.1)
(2.2.2)

where q(x) is an arbitrary complex-value function and h is an arbitrary complex number.

Let  $f:[0,\infty)\to\mathbb{R}$ , the support of f is defined as  $\{x\in[0,\infty)\colon f(x)\neq 0\}$ . If the closure  $\overline{\{x\in[0,\infty)\colon f(x)\neq 0\}}$  is compact then f(x) has compact support. We denote:

$$K[0,\infty) := \{ f : [0,\infty) \to \mathbb{R} : f(x) \text{ is continuous with compact support} \},$$

$$L^2[0,\infty):=\left\{f\colon [0,\infty)\to \mathbb{R}\colon f(x) \text{ is summable or measurable and } 
ight.$$

$$||f||_2 := \int_0^\infty |f(x)|^2 dx < \infty$$

$$L^1(-\infty,\infty) := \left\{ f \colon (-\infty,\infty) \to \mathbb{R} \colon f(x) \text{ is summable and } \right\}$$

$$||f||_1 := \int_0^\infty |f(x)| \, dx < \infty \bigg\},$$

 $K^2[0,\infty) := K^2 := \{ f \colon [0,\infty) \to \mathbb{R} \colon f(x) \in L^2[0,\infty) \text{ of compact support} \}.$ 

For  $\sigma > 0$ 

$$K^{2}(\sigma) := \{ f \in K^{2} : f(x) = 0 \text{ for } x > \sigma \}.$$

We can observe that  $K^2 \supseteq K^2(\sigma)$  since if

$$\chi_{[0,n]}(x) := \begin{cases} 1, & \text{if } x \in [0,n], \\ 0, & \text{if } x > n, \end{cases}$$

then  $\chi_{[0,n]}(x) \in K^2$  and  $\|\chi_{[0,n]}(x)\|_2 = \sqrt{n}$ . But  $\chi_{[0,n]}(x) \notin K^2(\sigma)$  if  $\sigma < x < n$ . We denote the Fourier cosine transform of a function  $f \in K^2(\sigma)$  by

$$C(\lambda, f) := \int_0^\infty f(x) \cos \lambda x dx,\tag{5}$$

and designate the space of the Fourier cosine transforms by

$$CK^{2}(\sigma) := \left\{ C(\lambda, f) \colon f \in K^{2}(\sigma) \right\}. \tag{6}$$

For an arbitrary function  $f(x) \in K^2$ , the *Fourier*  $\omega$ -transform is defined by the formula

$$\omega(\lambda, f) := \int_0^\infty f(x)\omega(\lambda, x) dx,\tag{7}$$

where  $\omega(\lambda, x) := \omega(\lambda, x; h)$  is the solution of the equation (2.1.1) of (4), with initial data

$$\omega(\lambda, 0; h) = 1, \omega'(\lambda, 0; h) = h.$$

And then designate the space of the Fourier  $\omega$ -transforms by

$$\hat{W}(K^2) := \left\{ \omega(\lambda, f) \colon f \in K^2 \right\}. \tag{8}$$

From the existence of transfomation operators, it follows that

$$\int_0^\infty f(x)\omega(\lambda,x)\,dx = \int_0^\infty \left[ f(x) + \int_x^\infty f(\xi)K(\xi,x) \right] \cos\lambda x\,dx,\tag{2.2.3}$$

$$\int_0^\infty g(x)\cos\lambda x \, dx = \int_0^\infty \left[ g(x) + \int_x^\infty g(\xi)L(\xi,x) \right] \omega(\lambda,x) \, dx,\tag{2.2.4}$$

where the integrals are actually taken over bounded intervals, since the functions f(x), g(x) have compact support.

And  $K(\xi,x)$  becomes the kernel of the transformation operator of the solution

$$\omega(\lambda, x; h) = \cos \lambda x + \int_0^x K(x, t; h) \cos \lambda t \, dt, \qquad (1.2.10)$$

or in a more compact notation defines the transformation operator

$$\omega(\lambda, x; h) = (\mathbb{I} + \mathbb{K}_h) \cos \lambda x,$$

where

$$\mathbb{I}(f(x)) := f(x) \text{ and } \mathbb{K}_h(f(x)) := \int_0^x K(x,t;h)f(t) dt,$$

of the Sturm-Liouville differential equation

$$y'' - q(x)y + \lambda^2 y = 0, \quad x \in (-a, a), \quad a \le \infty$$
 (1.2.1)

$$\omega(\lambda, 0; h) = 1, \qquad \omega'(\lambda, 0; h) = h, \tag{1.2.6}$$

and

$$K(x,t;h) := h + K(x,t) + K(x,-t) + h \int_{x}^{t} \left\{ K(x,\xi) - K(x,-\xi) \right\} d\xi. \tag{1.2.7}$$

Now by [12, 1.2.10", page 10],  $L(\xi,x)$  is the kernel of the transformation operator of

$$\cos \lambda x = \omega(\lambda, x; h) + \int_0^x L(x, t; h) \omega(\lambda, t; h) dt, \qquad (1.2.10'')$$

or in the compact notation defines the transformation operator

$$\cos \lambda x = (\mathbb{I} + \mathbb{L}_h)\omega(\lambda, x; h).$$

[12, Chapter 1, Corollary of Theorem 1.2.1, page 8]. Both kernels K(x,t;h) and L(x,t;h) are continuous solutions of the corresponding Volterra integral equations and the transformation operator  $\mathbb{I} + \mathbb{L}_h$  is the inverse of the transformation operator  $\mathbb{I} + \mathbb{K}_h$ .

And the following relationships held between the Fourier  $\omega$ -transform  $\omega(\lambda, f)$  and the Fourier cosines transform  $C(\lambda, f)$  of the functions  $f(x), g(x) \in K^2(\sigma)$ 

$$\omega(\lambda, f) = C(\lambda, f), C(\lambda, g) = \omega(\lambda, g), \tag{9}$$

where the functions f(x), g(x) are defined by the formulas

$$\overset{\wedge}{f}(x) := f(x) + \int_{x}^{\infty} f(\xi)K(\xi, x) d\xi,$$

$$\overset{\vee}{g}(x) := g(x) + \int_{x}^{\infty} g(\xi) L(\xi, x) \, d\xi,$$

for  $f(x), g(x) \in K^2(\sigma)$ .

Then really

$$\dot{f}(x) := f(x) + \int_{x}^{\sigma} f(\xi)K(\xi, x) d\xi, 
\dot{g}(x) := g(x) + \int_{x}^{\sigma} g(\xi)L(\xi, x) d\xi.$$

Then from (9) we conclude with the isomorphism

$$CK^2(\sigma) \simeq \hat{W}(K^2(\sigma)),$$
 (10)

[12, Chapter 2, page 118].

The space of test functions

$$Z(\sigma) := \left\{ f \colon \mathbb{C} \to \mathbb{C} \colon f(\lambda) \text{ is even entire and summable on the real line} \right.$$
 and satisfies  $\left| f(\lambda) \right| \leqslant Ce^{\sigma|\operatorname{Im}\lambda|}, \quad C \text{ and } \lambda \text{ depend on } f \right\}, \quad (DEF.2.1.1)$ 

where  $f(\lambda)$  is entire if  $f: \mathbb{C} \to \mathbb{C}$  and  $f(\lambda)$  is even if  $f(\lambda) = f(-\lambda)$ ,  $\forall \lambda \in \mathbb{C}$ . And with the norm

 $||f||_1 := \int_{-\infty}^{\infty} |f(\lambda)| d\lambda.$ 

The sequence  $f_n(\lambda) \in Z(\sigma)$  converges to  $f(\lambda)$  if

$$\lim_{n\to\infty}\int_{-\infty}^{\infty} |f_n(\lambda) - f(\lambda)| d\lambda = 0,$$

and the types  $\sigma_n$  of the functions  $f_n(\lambda)$  are bounded:  $\sigma := \sup \sigma_n < \infty$ . [12, Chapter 2, pages 102–103].

Let  $R\colon Z(\sigma)\to\mathbb{C}$  a functional of  $Z(\sigma)$ . R is additive if R(f+g)=R(f)+R(g)  $\forall f,g\in Z(\sigma)$  and R is homogeneous if  $R(f)=\alpha R(f), \ \ \forall f\in Z(\sigma)$  and for some  $\alpha\in\mathbb{C}$ .

The space of distributions Z'

$$Z' := \Big\{ R \colon Z(\sigma) \to \mathbb{C} \colon R\big[f(\lambda)\big] := \big(f(\lambda), R\big) \text{ and } R \text{ is additive}, \Big\}$$

homogeneous and continuous functionals

Let  $R \in \mathbb{Z}'$  be regular if it is given by the formula

$$(f(\lambda),R) = \int_0^\infty f(\lambda)R(\lambda)d\lambda,$$

where  $R(\lambda)$  is an arbitrary bounded measurable function on  $0 \le \lambda < \infty$ . That is to say,  $R \in Z'$  is regular if it defines a functional which is continuous in  $L^1(-\infty,\infty)$ . Moreover the distributions  $R \in Z'$  can be multiplied by the multipliers  $\varphi(\lambda) \in Z(\sigma)$  as

$$(f(\lambda), R \cdot \varphi(\lambda)) := (f(\lambda)\varphi(\lambda), R).$$

# [12, Chapter 2, page 104].

To each such pair of functions  $\omega(\lambda, f)$ ,  $\omega(\lambda, g)$ , we assign the number

$$R[\omega(\lambda, f), \omega(\lambda, g)] = \int_0^\infty f(x)g(x) dx,$$

that is, given the isomorphism (10), we obtain the functional

$$R: \hat{W}(K^2(\sigma)) \times \hat{W}(K^2(\sigma)) \to \mathbb{R}.$$

Actually, this functional depends only on the product  $\omega(\lambda, f)\omega(\lambda, g)$ . [12, Chapter 2, page 118].

It is shown in [12, Chapter 2, Theorem 2.2.1., pages 118–123] the existence of  $R \in \mathbb{Z}'$  and we give the full version of the theorem.

THEOREM 2.2.1. To the boundary value problem (4) there corresponds a distribution  $R \in \mathbb{Z}'$  such that

$$\left(\omega(\lambda, f)\omega(\lambda, g), R\right) = \int_0^\infty f(x)g(x) \, dx,\tag{2.2.8}$$

where f(x) and g(x) are arbitrary elements of  $L^2[0,\infty)$  and  $\omega(\lambda,f)$ ,  $\omega(\lambda,g)$  designate their Fourier  $\omega$ -transforms as defined in (7).

The distribution R is connected with the kernel L(x,t) of the transformation operator taking  $\omega(\lambda,x)$  into  $\cos \lambda x$  by the formula

$$R = \frac{2}{\pi} (1 + C(L)), \qquad (2.2.9)$$

where C(L) is the Fourier cosine transform of the function L(x,0).

Then, through the existence of a distribution  $R \in Z'$  of (2.2.8) and the dependence of the product only  $\omega(\lambda, f)\omega(\lambda, g)$  by R, we can conclude

$$(\omega(\lambda, f)\omega(\lambda, g), R) = R[\omega(\lambda, f), \omega(\lambda, g)] = \int_0^\infty f(x)g(x) dx, \tag{11}$$

where  $f(x), g(x) \in L^2[0, \infty)$  and  $\omega(\lambda, f), \omega(\lambda, g)$  are their Fourier  $\omega$ -tranforms as defined in (7).

## 3. The transference kernel and the integral Gelfand-Levitan equation

LEMMA 1. Consider two symmetrical Sturm-Liouville boundary value problems given in (2) for  $j \in \{1,2\}$  and  $s := \lambda$ , and the corresponding transformation operators:  $\mathbb{I} + \mathbb{L}_1$ ,  $\mathbb{I} + \mathbb{K}_2$  where

$$\cos \lambda x := (\mathbb{I} + \mathbb{L}_1)\omega_1(\lambda, x; h_1)$$
 and  $\omega_2(\lambda, x; h_2) := (\mathbb{I} + \mathbb{K}_2)\cos \lambda x$ 

and  $\omega_1(\lambda, x; h_1), \omega_2(\lambda, x; h_2)$  are corresponding solutions to boundary value problems j = 1 and j = 2. We are to define

$$\mathbb{I} + \mathbb{K}_{2,1} := (\mathbb{I} + \mathbb{K}_2)(\mathbb{I} + \mathbb{L}_1). \tag{12}$$

If we denote by  $K_{2,1}(x,y)$  the kernel of the operator  $\mathbb{K}_{2,1}$ , then  $K_{2,1}(x,y)$  satisfies the equation

$$F_{x,y}(x,y) + K_{2,1}(x,y) + \int_0^x K_{2,1}(x,t)f(x,t) dt = 0$$
  $(0 \le y \le x),$  (13)

which is analogous to [12, Formula (2.3.6)], where

$$F(x,y) = \left(\int_0^x \omega_1(\lambda,t) dt \int_0^y \omega_1(\lambda,t) dt, R_2 - R_1\right),\tag{14}$$

and  $F_{xy}(x,y) := \partial F/\partial x \partial y(x,y)$  and  $R_j$  ( $j \in \{1,2\}$ ) are the corresponding distribution spectral functions.

*Proof.* The operators  $\mathbb{I}+\mathbb{L}_1$  transform the solution  $\omega_1(\lambda,x;h_1)$  of the first boundary value problem into  $\cos \lambda x$ , whereas  $\mathbb{I}+\mathbb{K}_2$  transform  $\cos \lambda x$  into the solution  $\omega_2(\lambda,x;h_2)$  of the second boundary value problem. Hence, the operator  $\mathbb{I}+\mathbb{K}_{2,1}=(\mathbb{I}+\mathbb{K}_2)(\mathbb{I}+\mathbb{L}_1)$  transforms  $\omega_1(\lambda,x;h_1)$  into  $\omega_2(\lambda,x;h_2)$ ; moreover, it is also a Volterra integral operator. And of the equation

$$\cos \lambda x = (\mathbb{I} + \mathbb{L}_1)\omega_1(\lambda, x),$$

we obtain  $(\mathbb{I} + \mathbb{K}_2)\cos \lambda x = (\mathbb{I} + \mathbb{K}_2)(\mathbb{I} + \mathbb{L}_1)\omega_1(\lambda, x) = \omega_2(\lambda, x)$ , if

$$(\mathbb{I} + \mathbb{K}_{2,1}) := (\mathbb{I} + \mathbb{K}_2)(\mathbb{I} + \mathbb{L}_1),$$

since these are operators of Volterra,  $(\mathbb{I} + \mathbb{K}_{2,1})^{-1}$  exists, and if

$$(\mathbb{I} + \mathbb{K}_{2,1})^{-1} := \mathbb{I} + \mathbb{K}_{1,2} \tag{15}$$

we obtain the following commutative diagram:

$$egin{aligned} \omega_1(\lambda,x;h_1) & \xrightarrow{\mathbb{I}+\mathbb{K}_1,2} & \cos\lambda x \\ & & \downarrow^{\mathbb{I}+\mathbb{K}_1,2} & \downarrow^{\mathbb{I}+\mathbb{K}_2} \\ & & \omega_2(\lambda,x;h_2) \end{aligned}$$

then

$$\omega_{1}(\lambda, x) = (\mathbb{I} + \mathbb{K}_{1,2})\omega_{2}(\lambda, x) = \omega_{2}(\lambda, x) + \int_{0}^{x} K_{1,2}(x, t)\omega_{2}(\lambda, t) dt \text{ or}$$

$$\omega_{2}(\lambda, x) = (\mathbb{I} + \mathbb{K}_{2,1})\omega_{1}(\lambda, x) = \omega_{1}(\lambda, x) + \int_{0}^{x} K_{2,1}(x, t)\omega_{1}(\lambda, t) dt. \tag{16}$$

Now since  $f \in K^2(\sigma)$  and (9) yields

$$\omega_{1}(\lambda,f) = \int_{0}^{\infty} f(x)\omega_{1}(\lambda,x)dx = \int_{0}^{\sigma} f(x)\omega_{1}(\lambda,x)dx$$

$$= \int_{0}^{\sigma} f(x) \left[ \omega_{2}(\lambda,x) + \int_{0}^{x} K_{1,2}(x,t)\omega_{2}(\lambda,t) \right] dt dx$$

$$= \int_{0}^{\sigma} f(x)\omega_{2}(\lambda,x)dx + \int_{0}^{\sigma} \int_{0}^{x} f(x)K_{1,2}(x,t)\omega_{2}(\lambda,t)dt dx$$

$$= \int_{0}^{\sigma} f(x)\omega_{2}(\lambda,x)dx + \int_{0}^{x} \int_{0}^{\sigma} f(x)\omega_{2}(\lambda,t)K_{1,2}(x,t)dxdt$$
i.e. 
$$\omega_{1}(\lambda,f) = \int_{0}^{\sigma} f(x)\omega_{2}(\lambda,x)dx + \int_{0}^{x} \int_{0}^{\sigma} f(x)\omega_{2}(\lambda,t)K_{1,2}(x,t)dxdt.$$
(17)

By the geometric properties of the kernel  $K_{1,2}$ 

$$\begin{cases} K_{1,2}(x,t) = 0 & \text{if } |t| > |x| \\ K_{1,2}(x,t) \neq 0 & \text{if } |t| \leqslant |x|, \end{cases}$$

and (10),

$$\widehat{f}(x) = f(x) + \int_{x}^{\infty} f(t)K_{1,2}(t,x)dt,$$
 (18)

where  $0 \le x \le t \le \sigma < \infty$ . Therefore  $K_{1,2}(t,x) \ne 0$ , and by (9)

$$\omega_2(\lambda,\widehat{f}) = \int_0^\infty \widehat{f}(x)\omega_2(\lambda,x) dx = \int_0^\sigma \left( f(x) + \int_x^\infty f(t)K_{1,2}(t,x) dt \right) \omega_2(\lambda,x) dx,$$

and by (17) yields

$$\omega_1(\lambda, f) = \omega_2(\lambda, \widehat{f}). \tag{19}$$

Now, for j = 1, 2 there correspond distributions  $R_1$  and  $R_2 \in \mathbb{Z}'$ , respectively, and, in accordance with (11) we yield

$$\left(\omega(\lambda, f)\omega(\lambda, g), R_i\right) = \int_0^\infty f(x)g(x) \, dx, \qquad \text{for } i = 1, 2.$$
 (20)

With the formulas: (18), (19) and (20) we can compute:

$$\begin{split} \left(\omega_{2}(\lambda, f)\omega_{2}(\lambda, g), R_{2} - R_{1}\right) \\ &= \left(\omega_{1}(\lambda, \widehat{f})\omega_{1}(\lambda, \widehat{g}), R_{2}\right) - \left(\omega_{2}(\lambda, f)\omega_{2}(\lambda, g), R_{1}\right) \\ &= \int_{0}^{\infty} \left[\widehat{f}(x)\widehat{g}(x) - f(x)g(x)\right] dx \\ &= \int_{0}^{\infty} \left[\left(f(x) + \int_{x}^{\infty} f(t)K_{1,2}(t, x) dt\right) \right. \\ &\times \left(g(x) + \int_{x}^{\infty} g(t)K_{1,2}(t, x) dt\right) - f(x)\right] g(x) dx \end{split}$$

$$= \int_{0}^{\infty} \left\{ f(x)g(x) + g(x) \int_{x}^{\infty} f(t)K_{1,2}(t,x) dt + f(x) \int_{x}^{\infty} g(t)K_{1,2}(t,x) dt \right. \\ + \left( \int_{x}^{\infty} f(t)K_{1,2}(t,x) dt \right) \left( \int_{x}^{\infty} g(t)K_{1,2}(t,x) dt \right) - f(x)g(x) \right\} dx$$

$$= \int_{0}^{\infty} \left\{ g(x) \int_{x}^{\infty} f(t)K_{1,2}(t,x) dt + f(x) \int_{x}^{\infty} g(t)K_{1,2}(t,x) dt \right. \\ + \left( \int_{x}^{\infty} f(t)K_{1,2}(t,x) dt \right) \left( \int_{x}^{\infty} g(t)K_{1,2}(t,x) dt \right) \right\} dx$$

$$= \int_{0}^{\infty} \int_{x}^{\infty} f(t)g(x)K_{1,2}(t,x) dt dx + \int_{0}^{\infty} \int_{x}^{\infty} f(x)g(t)K_{1,2}(t,x) dt dx \\ + \int_{0}^{\infty} \left( \int_{x}^{\infty} f(t)K_{1,2}(t,x) dt \right) \left( \int_{x}^{\infty} g(t)K_{1,2}(t,x) dt \right) dx.$$

We remark that  $f, g \in K^2(\sigma)$ , then

$$\begin{split} & \int_{0}^{\infty} \int_{x}^{\infty} f(t)g(x)K_{1,2}(t,x) \, dt \, dx + \int_{0}^{\infty} \int_{x}^{\infty} f(x)g(t)K_{1,2}(t,x) \, dt \, dx \\ & \quad + \int_{0}^{\infty} \left( \int_{x}^{\infty} f(t)K_{1,2}(t,x) \, dt \right) \left( \int_{x}^{\infty} g(t)K_{1,2}(t,x) \, dt \right) dx \\ & \quad = \int_{0}^{\sigma} \int_{x}^{\sigma} f(t)g(x)K_{1,2}(t,x) \, dt \, dx + \int_{0}^{\sigma} \int_{x}^{\sigma} f(x)g(t)K_{1,2}(t,x) \, dt \, dx \\ & \quad + \int_{0}^{\sigma} \left( \int_{x}^{\sigma} f(t)K_{1,2}(t,x) \, dt \right) \left( \int_{x}^{\sigma} g(t)K_{1,2}(t,x) \, dt \right) dx. \end{split}$$

If the coordinates are interchanged: t := y, we obtain

$$\int_{0}^{\sigma} \int_{x}^{\sigma} f(t)g(x)K_{1,2}(t,x) dt dx = \int_{0}^{\sigma} \int_{0}^{t} f(x)g(t)K_{1,2}(x,t) dx dt,$$

$$\int_{0}^{\sigma} \int_{x}^{\sigma} f(t)g(x)K_{1,2}(t,x) dt dx = \int_{0}^{\sigma} \int_{0}^{y} f(x)g(y)K_{1,2}(x,y) dx dy,$$

$$\int_{0}^{\sigma} \int_{x}^{\sigma} f(x)g(t)K_{1,2}(t,x) dt dx = \int_{0}^{\sigma} \int_{x}^{\sigma} f(x)g(y)K_{1,2}(y,x) dy dx,$$
(21)

and the reparametrization of the domain of integration

$$\{(x,y)\colon 0\leqslant x\leqslant \sigma, x\leqslant y\leqslant \sigma\}=\{(x,y)\colon 0\leqslant y\leqslant \sigma, 0\leqslant x\leqslant y\},$$

yields us

$$\int_{0}^{\sigma} \int_{x}^{\sigma} f(x)g(y)K_{1,2}(y,x)\,dy\,dx = \int_{0}^{\sigma} \int_{0}^{y} f(x)g(y)K_{1,2}(y,x)\,dx\,dy \tag{22}$$

Now

$$\left(\int_{x}^{\sigma} f(t)K_{1,2}(t,x)\,dt\right)\left(\int_{x}^{\sigma} g(t)K_{1,2}(t,x)\,dt\right)$$

$$= \left(\int_{r}^{\sigma} f(t)K_{1,2}(t,x)dt\right) \left(\int_{r}^{\sigma} g(s)K_{1,2}(s,x)ds\right),$$

we remark that

$$K_{1,2}(t,x) \neq 0 \neq K_{1,2}(s,x)$$
 for  $x \leq s,t \leq \sigma$ ,

then

$$\begin{split} & \int_{0}^{\sigma} \left( \int_{x}^{\sigma} f(t) K_{1,2}(t,x) \, dt \right) \left( \int_{x}^{\sigma} g(t) K_{1,2}(t,x) \, dt \right) dx \\ & = \int_{0}^{\sigma} \left( \int_{x}^{\sigma} f(t) K_{1,2}(t,x) \, dt \right) \left( \int_{x}^{\sigma} g(s) K_{1,2}(s,x) \, ds \right) dx \\ & = \int_{0}^{\sigma} \int_{x}^{\sigma} \int_{x}^{\sigma} f(t) g(s) K_{1,2}(t,x) K_{1,2}(s,x) \, dt \, ds \, dx \\ & = \int_{x}^{\sigma} \int_{x}^{\sigma} \int_{0}^{\sigma} f(t) g(s) K_{1,2}(t,x) K_{1,2}(s,x) \, dx \, dt \, ds \\ & = \int_{x}^{\sigma} g(s) \, ds \int_{x}^{\sigma} \int_{0}^{\sigma} f(t) K_{1,2}(t,x) K_{1,2}(s,x) \, dx \, dt \\ & = \int_{x}^{\sigma} g(s) \, ds \int_{0}^{\sigma} \int_{x}^{\sigma} f(t) K_{1,2}(t,x) K_{1,2}(s,x) \, dt \, dx \\ & = \int_{x}^{\sigma} g(s) \, ds \int_{0}^{\sigma} \int_{x}^{t} f(x) K_{1,2}(x,t) K_{1,2}(s,t) \, dx \, dt \\ & = \int_{x}^{\sigma} \int_{0}^{\sigma} \int_{0}^{t} g(s) f(x) K_{1,2}(x,t) K_{1,2}(s,t) \, dx \, dt \, ds \\ & = \int_{x}^{\sigma} \int_{0}^{\sigma} \int_{x}^{\sigma} g(s) K_{1,2}(s,t) \, ds \left( \int_{0}^{t} f(x) K_{1,2}(x,t) \, dx \right) \, dt \, ds \\ & = \int_{0}^{\sigma} \int_{0}^{t} g(t) K_{1,2}(t,s) \left( \int_{0}^{s} f(x) K_{1,2}(x,s) \, dx \, dt \, ds \right) \\ & = \int_{0}^{\sigma} \int_{0}^{t} \int_{0}^{s} g(t) K_{1,2}(t,s) f(x) K_{1,2}(x,s) \, dx \, dt \, ds. \end{split}$$

If t := y, then

$$\int_{0}^{\sigma} \int_{0}^{t} \int_{0}^{s} g(t)K_{1,2}(t,s)f(x)K_{1,2}(x,s) dx dt ds$$

$$= \int_{0}^{\sigma} \int_{0}^{s} \int_{0}^{y} g(y)K_{1,2}(y,s)f(x)K_{1,2}(x,s) dx dy ds$$

$$= \int_{0}^{s} \int_{0}^{y} \int_{0}^{\sigma} g(y)K_{1,2}(y,s)f(x)K_{1,2}(x,s) ds dx dy.$$

Since

$$K_{1,2}(y,s) \neq 0 \neq K_{1,2}(x,s)$$

then  $0 \le s \le x, y$ , we will assume that  $0 \le s \le y < x$ , and

$$K_{1,2}(y,s) = 0 = K_{1,2}(x,s), \quad \text{for} \quad s > y \geqslant x.$$

In these conditions we can write

$$\int_0^s \int_0^y \int_0^\sigma g(y) K_{1,2}(y,s) f(x) K_{1,2}(x,s) \, ds \, dx \, dy$$

$$= \int_0^\sigma \int_0^\sigma \int_0^x g(y) K_{1,2}(y,s) f(x) K_{1,2}(x,s) \, ds \, dx \, dy,$$

then for  $s > y \ge x$ , we get

$$\int_{0}^{s} \int_{0}^{y} \int_{0}^{\sigma} g(y) K_{1,2}(y,s) f(x) K_{1,2}(x,s) \, ds \, dx \, dy$$

$$= \int_{0}^{\sigma} \int_{0}^{\sigma} g(y) \Big\{ \int_{0}^{x} K_{1,2}(y,s) K_{1,2}(x,s) \, ds \Big\} f(x) \, dx \, dy. \tag{23}$$

Similarly, for the condition  $0 \le s \le y < x$ , the formulas (21) and (22) transform themselves into

$$\int_{0}^{\sigma} \int_{x}^{\sigma} f(t)g(x)K_{1,2}(t,x)dt dx = \int_{0}^{\sigma} \int_{0}^{\sigma} f(x)g(y)K_{1,2}(x,y)dx dy,$$
 (24)

and

$$\int_0^{\sigma} \int_x^{\sigma} f(x)g(y)K_{1,2}(y,x) \, dy \, dx = \int_0^{\sigma} \int_0^{\sigma} f(x)g(y)K_{1,2}(y,x) \, dx \, dy. \tag{25}$$

Finally we can write by substituting the formulae: (23), (24) and (25) for  $0 \le s \le y < x$ ,

$$\begin{split} \left(\omega_{1}(\lambda, f)\omega_{1}(\lambda, g), R_{2} - R_{1}\right) &= \int_{0}^{\sigma} \int_{0}^{\sigma} f(x)g(y)K_{1,2}(x, y) dx dy \\ &+ \int_{0}^{\sigma} \int_{0}^{\sigma} f(x)g(y)K_{1,2}(y, x) dx dy \\ &+ \int_{0}^{\sigma} \int_{0}^{\sigma} g(y) \Big\{ \int_{0}^{x} K_{1,2}(y, s)K_{1,2}(x, s) ds \Big\} f(x) dx dy \\ &= \int_{0}^{\sigma} \int_{0}^{\sigma} f(x) \Big\{ K_{1,2}(x, y) + K_{1,2}(y, x) \\ &+ \int_{0}^{x} K_{1,2}(y, s)K_{1,2}(x, s) ds \Big\} g(y) dx dy \end{split}$$

*i.e.*, for  $0 \le s \le y < x$ ,

$$(\omega_1(\lambda, f)\omega_1(\lambda, g), R_2 - R_1)$$

$$= \int_0^\sigma \int_0^\sigma f(x) \Big\{ K_{1,2}(x, y) + K_{1,2}(y, x) + \int_0^x K_{1,2}(y, s) K_{1,2}(x, s) \, ds \Big\} g(y) \, dx \, dy.$$

If

$$F(x,y) := \int_0^x \int_0^y \left\{ K_{1,2}(\xi,\eta) + K_{1,2}(\eta,\xi) + \int_0^x K_{1,2}(\xi,\eta) K_{1,2}(\eta,\xi) ds \right\} d\eta d\xi,$$

then

$$F_{x,y} := f(x,y) = K_{1,2}(x,y) + K_{1,2}(y,x) + \int_0^x K_{1,2}(y,s)K_{1,2}(x,s) ds,$$

where  $F_{x,y} := \partial F / \partial x \partial y$  then

$$f(x,y) = K_{1,2}(x,y) + K_{1,2}(y,x) + \int_0^x K_{1,2}(y,s)K_{1,2}(x,s) ds.$$

In terms of Transformation Theory, if

$$(\mathbb{I})(f) := f,$$

then

$$\mathbb{I} = (\mathbb{I} + \mathbb{K}_{1,2})(\mathbb{I} + \mathbb{K}_{1,2}^*),$$

where  $\mathbb{K}_{1,2}^*$  is the transpose of  $\mathbb{K}_{1,2}$ , then

$$\mathbb{I} + \mathbb{K}_{1,2}^* = (\mathbb{I} + \mathbb{K}_{1,2})^{-1},$$

since

$$(\mathbb{I} + \mathbb{K}_{1,2})^{-1} = \mathbb{I} + \mathbb{K}_{2,1},$$

in terms of the kernels

$$K_{1,2}(y,x) = K_{2,1}(x,y) + \int_0^x K_{2,1}(x,s)f(s,y)\,ds + f(x,y),$$

for  $s \le y < x$ 

$$K_{1,2}(y,x) = 0,$$

then we obtain finally (13)

$$K_{2,1}(x,y) + \int_0^x K_{2,1}(x,s)f(s,y)\,ds + f(x,y) = 0,$$
 for  $y < x$ .

In particular: for  $x, y \in [0, \infty)$  and  $0 \le t \le x, y$ , we defined the following functions

$$f(t) := \omega_1(\lambda, t) \chi_{[0,x]}$$
 and  $g(t) := \omega_1(\lambda, t) \chi_{[0,y]}$ ,

where

$$\chi_A(t) := \begin{cases} 1, & \text{if } t \in A, \\ 0, & \text{if } t \notin A, \end{cases}$$

and, by (9) and (11), we have

$$F(x,y) = \left(\omega(\lambda,\omega_1(\lambda,\cdot)\chi_{[0,x]})\omega(\lambda,\omega_1(\lambda,\cdot)\chi_{[0,y]}), R_2 - R_1\right)$$
$$= \left(\int_0^x \omega_1(\lambda,t) dt \int_0^y \omega_1(\lambda,t) dt, R_2 - R_1\right). \quad (26)$$

REMARK 1. Truly the Functions f(t) and g(t) denote restrictions in the same  $\omega_1(\lambda,\cdot)$ .

## 4. The uniqueness of the second problem

THEOREM 1. Let  $R_1$  be a spectral distribution function of the boundary value problem (2) with j = 1 and for

$$s := \lambda, \mu \tag{27}$$

the corresponding solution of the equation: j = 1

$$\omega_1(\lambda, x) := \omega_1(\lambda, x, h_1), \qquad \omega_1(\mu, y) := \omega_1(\mu, y, h_1)$$
 (28)

respectively. We will assume the following hypothesis:

$$1 + c \int_0^x \omega_1^2(\mu, t) dt \neq 0 \quad \forall x \in [0, \infty), \tag{29}$$

and

$$q_{2}(x) := q_{1}(x) - 2K_{2,1}(x,x),$$

$$h_{2} := h_{1} - c,$$

$$R_{2} := R_{1} - c\delta(\mu - \lambda),$$
(30)

where kernel  $K_{2,1}(x,x)$  was defined in Lemma 1. Then  $R_2$  is a spectral distribution function of the boundary value problem j=2

$$-y'' + q_2(x)y = \mu^2 y, \qquad y(0)h_2 - y'(0) = 0. \tag{2.3.23}$$

REMARK 2. The constants

$$\int_0^x \omega_1^2(\mu, t) dt, \tag{32}$$

which represent the normalizing constant of the solutions  $\omega_1(\mu,t)$  for the boundary value problem of j=1,  $s=\mu$ .  $\delta(\mu-\lambda)$  is the Dirac distribution.

*Proof.* Since  $\omega_2(\lambda, x)$  is the solution for the boundary value problem j = 2,  $s = \lambda$  and  $R_2 \in Z'$  the corresponding distribution, now we can use (26) for  $s = \lambda$ 

$$F(x,y) = \left(\int_0^x \omega_1(\lambda,t) dt \int_0^y \omega_1(\lambda,t) dt, c\delta(\mu - \lambda)\right),\tag{33}$$

since

$$\left(\int_0^x \omega_1(\lambda,t) dt \int_0^y \omega_1(\lambda,t) dt, c\delta(\mu-\lambda)\right) := c \int_0^x \omega_1(\lambda,t) dt \int_0^y \omega_1(\lambda,t) dt$$

and

$$f(x,y) = F_{xy}(x,y) := c\omega_1(\lambda,x)\omega_1(\lambda,y).$$

Then the equation (30) of kernel  $K_{2,1}(x,y)$  yields:  $c\omega_1(\lambda,x)\omega_1(\lambda,y)$ , which satisfies (13) of Lemma 1

$$c\omega_1(\lambda, x)\omega_1(\lambda, y) + K_{2,1}(x, y) + c\int_0^x K_{2,1}(x, t)\omega_1(\lambda, t)\omega_1(\lambda, y)dt = 0$$
 (34)

and (16) implies

$$\omega_2(\lambda, x) = \omega_1(\lambda, x) + \int_0^x K_{2,1}(x, t)\omega_1(\lambda, t) dt,$$
 (35)

in this case, for (37) we can find an explicit solution

$$K_{2,1}(x,y) := -\frac{c\omega_1(\mu, x)\omega_1(\mu, y)}{1 + c\int_0^x \omega_1(\mu, t)^2 dt}.$$
 (36)

Now, by (16) and  $\partial/\partial x :='$ 

$$\omega_2'(\lambda,x) = \omega_1'(\lambda,x) + \int_0^x \omega_1(\lambda,t) \frac{\partial}{\partial x} K_{2,1}(x,t) dt + K_{2,1}(x,x) \omega_1(\lambda,x),$$

since

$$\int_0^x \omega_1(\lambda,t) \frac{\partial}{\partial x} K_{2,1}(x,t) dt = \int_0^x \frac{\partial}{\partial x} \left[ K_{2,1}(x,t) \omega_1(\lambda,t) \right] dt = K_{2,1}(x,x) \omega_1(\lambda,x),$$

then

$$\omega_2'(\lambda, x) = \omega_1'(\lambda, x) + 2K_{2,1}(x, x)\omega_1(\lambda, x)$$
(37)

of [12, equality (1.2.28), page 16],

$$K_{2,1}(x,x) = \frac{1}{2} \int_0^x q_2(\xi) \, d\xi,\tag{38}$$

we have

$$\omega_2'(\lambda,0) = \omega_1'(\lambda,0).$$

These solutions also satisfy the boundary conditions  $\omega_2'(\lambda,0) - h_2\omega_2(\lambda,0) = 0 = \omega_1'(\lambda,0) - h_1\omega_1(\lambda,0)$  and as a particular case this satisfies them when

$$\omega_2'(\lambda,0) = h_2, \omega_2(\lambda,0) = 1,$$
  
 $\omega_1'(\lambda,0) = h_1 - c, \omega_1(\lambda,0) = 1 - \frac{c}{h_1},$ 

we finally get

$$\omega_2'(\lambda, 0) = h_2 = \omega_1'(\lambda, 0) = h_1 - c. \tag{39}$$

We find a relation between the potentials across (37) since

$$\frac{d}{dx}K_{2,1}(x,x) = \frac{1}{2}q_2(x),$$
 and  $\frac{d}{dx}K_{1,2}(x,x) = \frac{1}{2}q_1(x),$ 

due to the symmetry of the kernels

$$K_{1,2}(x,x) = K_{2,1}(x,x).$$
 (40)

Then

$$q_{2}(x) = 2\frac{d}{dx}K_{2,1}(x,x) = \frac{d}{dx}K_{1,2}(x,x) + \frac{d}{dx}K_{2,1}(x,x)$$

$$= \frac{1}{2}q_{1} - c\left(\frac{\omega_{1}}{1 + c\int_{0}^{x}\omega_{1}(\mu,t)^{2}dt}\right)',$$
i.e., 
$$q_{2}(x) = \frac{1}{2}q_{1} - c\left(\frac{\omega_{1}}{1 + c\int_{0}^{x}\omega_{1}(\mu,t)^{2}dt}\right)'.$$
(41)

We can add the last results to the following table

$$\omega_{2}(\lambda, x) = \omega_{1}(\lambda, x) - \frac{c\omega_{1}(\mu, x)}{1 + c \int_{0}^{x} \omega_{1}(\mu, t)^{2} dt} \int_{0}^{x} \omega_{1}(\mu, t) \omega_{1}(\lambda, t) dt, 
h_{2} = \omega'_{2}(\lambda, 0) = h_{1} - c, 
q_{2} = \frac{1}{2}q_{1} - c \left\{ \frac{\omega_{1}(\mu, x)}{1 + c \int_{0}^{x} \omega_{1}(\mu, t)^{2} dt} \right\}'.$$
(2.3.23)

# 5. Two relevant examples for Theorem 3

Below are two examples of relevant isospectral boundary value problems, self-adjointes with homogeneous Dirichlet boundary condition at the origin, where Theorem 3 can be applied.

# 5.1. The Time-Dependent Approach to Inverse Scattering.

One objective of the Time-dependent approach to inverse Scattering theory is to use, in an essential way, the physical propagation aspects to solve the Inverse Scattering Problem and obtain mathematical proofs that closely follow physical intuition. It is hoped that a good physical understanding of the inversion mechanisms will be reflected in more transparent mathematical methods, [22].

The Time-Dependent Approach to Inverse Scattering found at [22] was considered as in [23, Theorem 2.1, page 237].

Theorem 2.1. Suppose that V is regular, then

$$||e^{-itH}P_c||_{B(L_1,L_\infty)} \le C\frac{1}{\sqrt{|t|}}.$$
 (43)

*If, furthermore,*  $V \in L^1$ ,

$$||e^{-itH}P_c||_{B(W_{1,1},W_{1,\infty})} \le C\frac{1}{\sqrt{|t|}},$$
 (44)

where

$$i\frac{\partial}{\partial t}u(x,t) = Hu(x,t),$$

is the Schrödinger equation, u(0,t) = 0,  $u(x,0) = \phi(x)$ ,  $x \in (0,\infty)$ ,  $t \in \mathbb{R}^+$ .

## 5.2. First example

The Hamiltonian, H, is the following operator,

$$H := -\frac{d^2}{dx^2} + V(x),\tag{45}$$

with domain,

$$D := \left\{ \phi \in L^2 : \phi, \frac{d\phi}{dx} \text{ are absolutely continuous on } (0, \infty), \right.$$

$$\left(-\frac{d^2}{dx^2} + V(x)\right)\phi \in L^2, \quad \phi(0) = 0\right\}, \quad (46)$$

 $L^2(0,\infty)$  is the Hilbert spaces of square-integrable functions on  $\mathbb{R}^+$ . Then, it follows from [25, Theorem 5.8], that there exists H wich is self-adjoint in  $L^2(0,\infty)$ , it is the self-adjoint realization of the differential expression  $-(d^2/dx^2)+V(x)$  with homogeneous Dirichlet boundary condition at zero, that is,

$$H = -\frac{d^2}{dx^2} + V(x), \qquad \phi(0) = 0, \tag{47}$$

is our first example of the one proposed and in our notation used in (2):  $(d^2/dx^2) := ''$ ,  $V(x) := q_1(x)$ ,  $\phi(x) := y(x)$ ,  $H\phi(x) = s^2\phi(x)$ ,  $\phi(0) = 0$ . Where  $P_c$  is the orthogonal projector onto  $H_c$ , where  $H_c$  is the subspace of continuity of H, i.e.,  $H_c$  is the subspace of  $L^2(0,\infty)$  orthogonal to all eigenvectors of H. B(X,Y) is the Banach space of the bounded operators from X into Y.  $W_{l,p}$ ,  $l = 0,1,2,\cdots$ ,  $1 \le p \le \infty$ , we denote the standard Sobolev spaces in  $\mathbb{R}^+$  [1] and by

$$W_{l,p}^{(0)}, \qquad 1 \leqslant p < \infty, \tag{48}$$

the completion of  $C_0^{\infty}(\mathbb{R}^+)$  in the norm of  $W_{l,p}$ , also for  $l \ge 1$ ,  $u \in W_{l,p}^{(0)}$  satisfies the homogeneous Dirichlet boundary condition at zero,  $(d/dx^j)u(0) = 0$ ,  $j = 0, 1, 2, \ldots, l-1$ . The potential is a real-valued function V(x) called regular if

$$\int_0^\infty x |V(x)| \, dx < \infty. \tag{49}$$

## **5.3.** Second example

We propose as the second example the Hamiltonian prior (45), to which we have added a term with a singularity of quadratic, that is,

$$\mathscr{H} := -\Delta + V(x) + \frac{l(l+1)}{x^2},\tag{50}$$

associated to the following problem of Sturm-Liouville

$$-y'' + \left(V(x) + \frac{l(l+1)}{x^2}\right)y = \lambda^2 y, \qquad (0 < x < \infty),$$
 (51)

where  $\Delta$  is the Laplacian, V(x) is a potential regular defined as (49),  $\lambda$  is a number real, l is a fixed entire number with homogeneous Dirichlet boundary condition at zero,

$$y(0) = 0. (52)$$

We can remark that the equation preceding it occurred while  $\lambda := l(l+1)$ , in the separation of variables of the equation of Schrödinger in the case 3D (the equation of Schrödinger in the stationary case for two particles) when the potential has radial symmetry.

Likewise, we have considered the context of Inverse Sturm-Liouville Problems, the case of angular fixed momentum and we have analyzed the case: l > 0, see [9, Chapter 4], [13] and [14].

The resulted Theorem 3, Section 4 above, continues hold with the homogeneous Dirichlet boundary condition at zero, since there exists a distribution spectral function for the same problem boundary except that we have the homogeneous Dirichlet boundary condition at zero, *i.e.*,

$$-y''(x) + q(x)y = \lambda^2 y, \qquad 0 \le x < \infty,$$
 (53)  
  $y(0) = 0,$ 

where

$$q_1(x) := V(x) + \frac{l(l+1)}{x^2}$$
 and  $q_2(x) := V(x)$ . (54)

Adding the restriction that the potential V(x) will be continuous on  $[0,\infty)$  see [12, Chapter 2, Section Problems: problem 6 A, page 153].

REMARK 3. Self-adjointess of 
$$\mathcal{H} := -\Delta + V(x) + \frac{l(l+1)}{r^2}$$
.

We united the notation of [23] and we adopted the notation of [12] hereafter:  $y''(x) := (d^2y/dx^2)$ ,  $V(x) := q_2(x)$ . Moreover, remarking that, in our case, when the potential  $q_2(x) := V(x)$  is regular with V(x) continuous (47), there exists a spectral function  $\rho_2$  and there exists the self-adjoint realization of the differential expression with homogeneous Dirichlet boundary condition at zero

$$-y''(x) + q_2(x)y(x) = \lambda^2 y, \qquad 0 \le x < \infty, \tag{55}$$

$$y(0) = 0.$$

[25, Theorem 5.8, page 84] and [8, Chapter 2, Section Problems: problem 6 A, page 153].

Likewise, if  $\tau := -(d^2/dx^2) + \overline{q}(x)$  in [25, Theorem 6.4 a), page 91], and  $\overline{q}(x) := (l(l+1)/x^2) > (3/4)x^{-2}$  then  $\tau$  is in the *limit point* at x=0. That is, for the problem of Sturm-Liouville:  $-y'' + ((l(l+1)/x^2)y = \lambda^2 y, \ 0 < x < \infty, \ x=0$  is *limit point*. Similarly, for this problem of Sturm-Liouville, in [25, Theorem 6.6, page 96], we concluded since  $\overline{q}(x) := (l(l+1)/x^2) \geqslant -(1/x^2)$ , then  $\tau$  is in the *limit point case at*  $\infty$ . Then of [16, Theorem X.7, page 152], there exists a self-adjoint realization of the differential expression

$$\tau y := -y'' + \overline{q}(x)y, \qquad 0 < x < \infty, \tag{56}$$

with domain:

expresion

$$D' := \left\{ y \in L^2 : y, \frac{dy}{dx} \text{ are absolutely continuous on } (0, \infty), \\ \left( -\frac{d^2}{dx^2} + \frac{l(l+1)}{x^2} \right) y \in L^2, \qquad y(0) = 0 \right\}. \tag{57}$$

Then, as in the first example, there exists a self-adjoint realization of the differential

$$\tau := -\frac{d^2}{dx^2} + V(x) + \frac{l(l+1)}{x^2}, \qquad 0 < x < \infty$$
 (58)

with  $W_{l,p}^{(0)}$ ,  $1\leqslant p<\infty$ , as the completion of  $C_0^\infty(\mathbb{R}^+)$  in the norm of  $W_{l,p}$  (47).

# 6. The Estimates $L_1 - L_{\infty}$ for the Equation of Schröndinger on the Half-Line, [23]

Estimates of the type  $L_1 - L_{\infty}$  express the dispersive nature of the Schröndinger equation and are the essential elements in the study of the problems of initial values, the asymptotic times for large solutions and Scattering Theory for the Schröndinger equation and non-linear in general; for other equations of Non-linear Evolution, see [20] and [23].

In general, the estimates Lp - Lp' [23] express the dispersive nature of this equation. It is well known for his time, that his study plays an important role in the study of problems non-linear initial values. Likewise, it is well known at the same time, that his study plays an important role in the study of nonlinear initial values problems; see [2], [4] and [18].

In particular, the estimates Lp - Lp' imply the famous Strichartz inequality for the linear Schrödinger equation with a potential; see [6], [7], [19], [20] and [23]. These estimates also play an important role in the construction of center manifold for the Schrödinger equation with non-linear potential; see [15], [17] and [21]. Finally, we can mention that the author could apply these estimates to the solution of the forward and

inverse problem for the Schrödinger non-linear forced equation with a potential on the half-line in [24].

In [2, page 27], the importance of these estimations is mentioned, in the context of search of global solutions for the equations of non-linear Schrödinger. In particular, the obtained ones in [5] which perform the form

$$||e^{it(\Delta-V)}\phi||_{\infty} \le C|t|^{-d/2}||\phi||_{1}, \quad \text{for} \quad d \ge 3.$$
 (59)

Also, in [2, page 27], it is mentioned that "it would be most interesting to prove the analogue (59) in low dimension d=1,2. This is certainly a project of independent importance," In [20] and [23] these estimations were demonstrated for the case d=1 on the line and half-line respectively; see (43) and (44) in the case of the half-line. Finally, as an open problem mentioned in the Introduction, we consider the possibility of extending the Estimates given in (43) and (44), in the case of the previous one-dimensional singular Hamiltonian given in (58). Where will be essential the spectral and scattering properties shown above of the two examples (47), (51) and (52) of the Theorem 3, Section 4 shown in Section 5, as well, the fundamental relationship found in both examples, as shown in Remark 5, (53) and (54) in Section 5.

#### 7. Acknowledgments

The author is very thankfull to the referee for his careful and patient revision. His observations, comments and suggestions have contributed significantly to the realization of the final version. In addition, the author extends its gratitude to Ricardo Weder for his great disposition and mentor of this line of research.

The development of this work was initially supported by the program of sabbatical stays of the CONACyT convention No. 290537-UADY, 2009. Finally, I thank the support received from my family: my wife Mrs. Teresa Arriaga and my children and grandchildren: Ricardo, Karla and the small Máx.

#### REFERENCES

- [1] R. A. ADAMS, Sobolev Spaces, Academic Press, New York, 1970.
- [2] J. BOURGAIN, Global Solutions of Non-linear Schrödinger Equations, American Mathematical Society, Colloquium Publications, Volumen 46, US, 1999.
- [3] I. M. GELFAND AND B. M. LEVITAN, On the Determination of a Differential Equation by its Spectral Function, Izv. Akad. Nauk. SSSR. Ser. Mat., 15, (1951), 309–360. (English traslation: Amer. Math. Soc. Traslations, Ser., 2, I, 253–304.
- [4] J. GINIBRE, Introduction aux Équations de Schrödinger Nonlineáres, Onze Éditions, Paris, 1998.
- [5] J. L. JOURNE AND A. SOFFER, Decay Estimates for Schrödinger Operators, Comm. Pure Appl. Math., 44, (1991), 573–604.
- [6] T. KATO, Nonlinear Schrödinger Equations, Lectures Notes in Phys., 345, (1989), 218–263.
- [7] M. KEEL AND T. TAO, End Point Strichartz Estimates, Amer. J., 120, (1988), 955–980.
- [8] B. M. LEVITAN AND M. G. GASYMOV, Determination of a Differential Equation by Two of its Spectra, Russian Math. Surveys, 19, (1964), 1–63.
- [9] B. M. LEVITAN, Inverse Sturm-Liouville Problems, VNU Science Press BV, Utrech, The Netherlands, 1987.
- [10] V. A. MARCHENKO, Certain Problems of the Theory of Second-Order Differential Operators (in Russian), DAN SSSR 72, 3 (1950), 457–560.

- [11] V. A. MARCHENKO, Certain Problems of the Theory of One-Dimensional, Linear Differential Operators of Second-Order (in Russian), I. Trudy Mosk. Mat. Obshch I, (1952), 327–420.
- [12] V. A. MARCHENKO, Sturm-Liouville Operators and Applications, Operator Theory: Advances and Applications, 22, OT 22, Birkhäuser Verlang Basel, Germany, 1986.
- [13] R. G. NEWTON, Analytic Properties of Radial Wave Functions, J. Math. Phys., 1, 4 (1960), 301–312, 319–347.
- [14] R. G. NEWTON, Scattering Theory of Waves and Particles, Second Edition, Springer-Verlag, New York, Inc., US, 1982.
- [15] C. A. PILLET AND C. E. WAYNE, Invariant Manifolds for a Class of Dispersive, Hamiltonian, Partial Differential Equations, J. Differential Equations, 141, (1997), 310–326.
- [16] M. REED AND R. SIMON, Fourier Analysis, Self-Adjointness. Methods of Modern Mathematical Analvsis, Vol. 2, Academic Press, Inc., New York, 1975.
- [17] A. SOFFER AND M. I. WEINSTEIN, Multichannel Non-Linear Scattering for Non-Integrable Equations II. The Case of Anisotropic Potentials and Data, J. Differential Equations. 98, (1992), 376–390.
- [18] W. A. STRAUSS, Non-Linear Wave Equations, CBMS-RCSM, 73, Amer. Math. Soc., Providence, R.I., 1989.
- [19] R. S. STRICHARTZ, Restriction of Fourier Transform to Quadratic Surfaces and Decay of Solutions of Wave Equations, Duke Math. J., 44, (1977), 705–774.
- [20] R. Weder, Lp Lp' Estimates for the Schrödinger Equation on the Line and Inverse Scattering for the Non Linear Schrödinger Equation with a Potential, Journal Functional Analysis, 170, (2000), 37–68.
- [21] R. WEDER, Center Manifold for Non-Integrable Non-Linear Schrödinger Equation on the Line, Comm. Math. Phys., (2000), 343–356.
- [22] R. WEDER, The Time-Dependent Approach to Inverse Scattering, Minicourse, Pan-American Advanced Studies Institute (PASI) on Inverse Problems, Mathematical Sciences Research Institute, Berkeley, October 29-November 2, 2001.
- [23] R. WEDER, The Lp Lp' Estimate for the Schrödinger Equation on the Half-Line, Journal of Mathematical Analysis and Applications, 281, (2003), 233–243.
- [24] R. WEDER, Scattering for the Forced Non-Linear Schrödinger Equation with a Potential on the Half-Line, Mathematical Methods in The Applied Science, 28, (2005), 1219–1236.
- [25] J. WEIDMANN, Spectral Theory of Ordinary Differential Operators, Lectures Notes in Math., 1258, Springer-Verlag, Berlin, 1987.

(Received September 20, 2014) (Revised August 4, 2015) Herminio Blancarte Facultad de Ingeniería Universidad Autónoma de Querétaro Centro Universitario Cerro de las Campanas s/n, Col. Las Campanas Santiago de Querétaro, Qro. 76010, México e-mail: herbs@uaq.mx